MA4002 Engineering Mathematics 2 Prof. N. Kopteva Spring Marks

u - 6‘
Question 1(a) j X= 2 0{ X — 5 DL " / y’
X 9 i u’

U=x+4
- c4
2/s / ol f
— J oy~ {J u du _:__[_/
>/
/3
50 + C
=[ £ (xv9) " - 7 XQ
= (X ‘/) K( )
..................... €
Question 1(b) 3 X - ) 0()( j 0.57
A = J (a_ - X
eoe
bn 2 |y
- 6 _ < J05/,
= 2 2 3
Question 1(c) Xo — /} X, = /
[ /
~/ jT ~—_'}I
X &/ y
\MT_/ D.57. _ E
0.5 7- r >
é:'m«'ff" @ —
0.5 7. yler 0.5 "
LL/LL ‘/OULC?IJ'O/L
/

X tyy



MA4002 Engineering Mathematics 2 Prof. N. Kopteva Spring Marks

scn | 4 £ (37—»/3)/- sn || (Fx* -(x‘)/

= 33X g g2 = 2x snlitxe
N - ——— 7
0‘5‘7, 0-5_y-

]
-2 X
(6 ) = 9 6-2/\’ ....‘-_—.._.> M&
__. J‘S _ 9
=> = o 4 = 72\— o5y

9. < " — [n= 300]057

........................................................................................

Question 2 ( Z_fCZ[CLI’C 6’3 P //)

fﬁgmg( Adx = J(*szzr)‘dx j//.

= .9/, f(/ -~ < coes@)r) + cos‘(zx)) ol x

)

{f—- - 3,’* Sv/z(z,r)+ ;—,f——(x 1--549,n(4x))+c

L gt \—’—‘v——_‘_—“’/ L /

0.5/ 0.% 7. / Ve
(') Yrom ﬁy fa-ff@

v @, “UHIY eog2 e ”‘\z{@'x

E’“ G Ea)rS5 sax) v o

R
e




MA “ngineeri
4002 Engineering Mathematics 2 Prof. N. Kopteva Spri
pring Marks

M 0
Question 3 § = [ X 73 5
[— ._______.—-———-—'—'—"————— MX J 0' 7‘
— S X ohaxs

X+ 4x +5 = (7\+z)‘+/ => U=X*re
/7.




MA4002 Engineering Mathematics 2 Prof. N. Kopteva Spring Marks

Question 5 — '
- 7 A — __/_4_ J— L C /

= +
X ("‘5?— X X=-3  (X-3)

A e
(pa( N4
marks

possitl)

9-x = Al-3)" + Bx(x-3)+ Cx

NS VL
X=0 ¢ g = 9 A =a> ZZW
: 6

Lovth
X = 3 = 3C = (C =2
X =2 z = A 1+ B-2f)y Cr2
/ -2 8 7




